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1.

POLITICAL SCIENCE

o;Rdd ERTtY
Paper -l
6=

Which of the following was the main

reason for the decline of Political Theory ?
(A) Marxism

(B) Liberalism

(C) Feminism

(D) Behaviouralism

From among the following who is not a

political theorist ?
(A) Sydney Verba
(B) John Rawls

(C) Will Kymlicka

(D) Charles Taylor

Classical liberalism is responsible for the

rise of

(A) Collectivism
(B) Individualism
(C) Utopianism

(D) Feminism

1. oesdod 2ros 383 S0 TeIE° D6 5750 7

(A) 20020
(B) ®2059e0
(C) 2oJe0

(D) &dasdeso
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4,

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.

Assertion (A): The beginning of
the modern period
in European history is
co-terminus with the
rise of capitalism. For
flourishing, capitalism
required freedom to be
given to individuals.

Reason (R): Classical liberalism
advocated the idea of a
free market so that there
would be no fetters of any
kind in the growth of

capitalism.

Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true
but (R) is not a correct explanation of
(A)

(C) (A) is true but (R) is false

(D) (A)is false but (R) is true

4. &SI Assertion (A) a0 Reason (R).

2 3065 Btk (50009, %3 e T DO
205 3 E&o Bood TP DITEIR) JoDE

DA,

BOXES (A) 1 QOIS HONS HOBS’ es¢ods
ST0 [RE0E0 G0
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2eGE0 D599 0PN
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@ooo?so&.

w80y (R) 20epederd 9558 Jewsoed
&S50 0w ASHTAS
TR TS0 fge e

90 BT DS DO,
&,

(A) (A), (R) o Botr AT OGS 50000

(R), (A) 50 2558

(B) (A), (R) oo o> 20a30dd 520 (R),

(A) 2 503 5680 576
(C) (A)axsp=d (R) &5y

(D) (A) &5 59 (R) ey
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5.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read these
statements carefully and in the context
of the above two statements, identify the
correct answer from the codes given
below.

Assertion (A): The twentieth century
saw the decline of
political theory. But the

publication of ‘A theory

of Justice’ by John Rawls
was responsible for the
rekindling of interest in

political theory.

Reason (R): The latter part of the
twentieth century saw
behaviouralism lose its
sheen with political
theory becoming popular

yet again.
Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true
but (R) is not a correct explanation of
(A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

5. od OIS Assertion (A) rsox)

Reason (R) @ 3o ©85e0:8)0. 973
e B 50 S0 3% S&eo Bood W3S
DT JoDE DO,

©OFEH (A):  oBdBry FErgo oredakd
R HETRY BT,

230 07y (80D ‘D B0

D208
50 (R): ST FT0 BHad
eTNOS (SDTTE0 (58
0% &0 Tresdal> roso
S0P (Peresses Fodod.
§%,

(A) (A), (R) 20T G SO S0Bako

(R), (A)% 50 2558

(B) (A), (R) oo Bo&s> IEIET DOBHD

52 (R), (A) £ 50635 5 ¢
(C) (A) e =D (R) 85y

(D) (A) &5y 59 (R) ey
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6.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read these
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below.

Assertion (A): In common sensical
terms the meanings
associated with ideology
usually correspond to
“world-view” or the
vantage point from
where one would
like to view the world.

Reason (R): Forthe Marxists,ideology
has a different meaning.
While most Marxists
argue that ideology is a
“false consciousness”,
some believe that
ideology is an unscientific
explanation for

occurrences.
Codes :

(A) Both (A) and (R) are individually true
and (R) is correct explanation of (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

6. 00 PSS Assertion (A) rsoX)

Reason (R) @ Boc ©885e0:8)0. 973
e B 50 S0 3% S&eo Bood W3S

DT JoDE DO,

POFESH (A):  grHereo e DS (ES°E0
(@RS SHYEHEFo So
I QRISTOTRO! )
T ©Fo &0l ©083
BHHoTA D SyHF oS
LT €99 Sle)

w80 (R) 570y, 08" gTHer00 ¢
DS 0 @950 ol IXD
3008 B8,y 0 TS (55750
BP0’ 9083
‘é’b@@éé?go’ 090 008D
20306200 eTRAD JSSE

99 8T,
§%,
(A) (A) 58010 (R) 080 IEIET P05
558013 (R), (A) 5 00615 568

(B) (A) 200050 (R) @0 Botr GG SBA0ED
52 (R), (A) % 8500300 588 590

(C) (A)essy =0 (R) S5y
(D) (A) &5y 59 (R) ey
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7. Which of the following works are
authored by Lenin ?

I. Two steps forward one step back
Il. State and Revolution
lll. Prison note books
IV. Imperialism : The final stage of

capitalism
Codes :
(A) HLIV, LN (B) IV, I 1l
(C) 1,1 (D) L1, 1V

8. Which of the following thinkers are a part
of the revival of grand political theory in
the twentieth century ?

I. Jurgen Habermas
Il. Raymond Plant
lll. Hans Gadamer
IV. Paul Riceour

Codes :
(A) LIV (B) 1, 1,1l
(C) LIV (D) 1, 11, 1v

9. Which of the following are true about the
beliefs of classical liberalism ?

I. The state is a necessary but potentially
evil institution

Il. Democracy need not be based on
universal adult suffrage

lll. The amount of property that an
individual holds is an indication of his
rationality

IV. The common good of society is also
the good of an individual

Codes :
(A) LIL LIV (B) L1 1l
©) L (D) lonly

7. 2087638 88 55500 DD 9

| e 3 D ISR ergs

Il %e5 @o&@é@fé@s

. &esS Sef ek,

IV. 3028050920 : & PSS 228 e 520000
§%,

(A) 1L IV, 11 B) IV, 11, 1l

(C) I, 1L, 1 D) L1, IV

. ROSAT Hre0d” Kot oresdold Reros EeS”

PRS00 ($08 T7°0E° A 2
| 208 20658

Il. Bool yroes

. 58Sy moesssnd

V. oS 6356

§%,

(A) 1,11, 1V (B) 11, 1,1

(C) 11,1V (D) 1, 11,1V

. TORTTODE AT Soeodod Jod TS

2 D50 2
| Oresgo eEERON0 590 b CoREGIRT 200
QINTER00E
Il Rerargiogo FPUesEs SA3ess 800 250,
eSPEBCEISG0 B
. e& ;Sgéé Gy VONE DOITE0 9B
ATBORGEE B DY
IV. Ssorezo Glood), D0 Bolbry 95§ Glooy),
BooRyy 87

§%,
(A) LI, IV B) 11,11
) L (D) | S
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10.

11.

12.

Who of the following wrote the book
“Open Society and its Enemies” ?

(A) C. Write Mills
(B) Karl Popper
(C) John Plamavatz
(D)

D) Proudhan

Which of the following thinkers can be
categorized as sceptics ? (Choose the
correct answer code).

l. Antonio Gramsci
Il. Rene Descartes
lIl. Herbert Spencer
IV. David Hume
Codes :

(A) land IV

(B) lland IV
(C) Mand|

(D) IVandlil

Which of the following categories were
not used by Mao ?

I. Passive Revolution
Il. Comprador class

lIl. Antagonistic and Non-antagonistic
Contradictions

IV. New Democracy

10.

11.

12.

82000 3083 @906 36Ty I (08 S0 IS ?

208 B8 BBS IS8 WoFAYOT ST
$0Z0EHEY) 9 (HOAWD VIFERDY EE
OBOHS0).

| e5063°A337° [y

Il. T3ash,

lll. 3¢5 2y50

IV. G2& g
§%,
A) | 500050 IV
B
C

D

[l 508050 IV
11508050

(
(
(
(D) 1V 558050 I

)
)
)
)
308 T36° 3 ST ENAITAOBBE 2
. 85E A0
Il. sPoEEb 5o

lll. BS5Te H5odakn ©to5re PG

V. 27535 (erogo

Codes : §%,

(A) lonly (B) land Il (A) 15Eo (B) 155805011

(C) 1, 1land Il (D) 1,11, lland IV (C) I lIzosaxslll (D) 1, 11, lIzodcxe IV
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13. Match the items of List-I with items of
List-1l by selecting the correct code.

List—1 List—1I
(Persons) (Concepts)
l. Jarge Larrain 1. Delinking
Il. Habermas 2. Ideology

lll. Theodor Adorno 3. Life World

V. Samir Amin 4. Negative
Dialectics
Codes :
I nm i
A1 2 3 4
B 2 3 1 4
©c 3 2 1 4
D) 2 3 4 1

14. Which of the following are Gandhian
ideas ?

I. Gram Swaraj
Il. Panchayat system
lll. Satyagraha

IV. Railways are bad for India

13. DedsH & eoT B0 Seds-ll & eozres
e3BHSR0EIT 1500 SED0 MHYoB0d.

ESER ESER |
(S550e0) (g75%00)
. &§ oBaDS 1. &®cfoh
Il 2320855°% 2. ndalres
lll. &b &5 3. 35955
IV. 5206 203 4. Ie3S csondds,
§%,
| nm m 1
A) 1 2 3 4
B 2 3 1 4
C 3 2 1 4
D) 2 3 4 1

14. 208 7e38° moded erHden D9 9
| @eido S5oeesso
. SoTohHed RS
@
ll. 5@’5@‘3"0

IV. ers8am=08 38 Dew

Codes : 6
(A) I only (A) IS
(B) land Il (B) 5080
(C) I, lland I (C) 1, 11508050 Il
(D) I, 11, llland IV (D) 1, 11, 11l 508030 IV
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15.

16.

17.

Which of the following are true of
classical individualism ?

I. An aggregation of individuals

Il. Individual good leads to common
good

lll. Laissez-faire

IV. An individual is the best judge of his
own rationality

Codes :

(A) land i

(B) land il

(C) land lll

(D) lland IV

The Swiss collective Head of State is

known as

A) Federal Cabinet

B) Federal Authority

C) Federal Executive

(A)
(B)
(©)
(D) Federal Council

Which one of the following is not a correct

statement of purposes of a constitution ?
(A) It promotes international security
(B) It incorporates fundamental laws
(C) It safeguards fundamental rights
(

D) It preserves the political institutions

15.

16.

17.

PO 958 TTIS Hoeodo) Sod 38
OB A 2

| 255500 oogo
Il. 5558 Bodoig) B B0 ToS00
lll. £°% &2 Ao

IV, 3558 855 r80asd &% K88 T2 J08

SE, :
(A) 150801 I

(B) Il 5800 I
(C) 1 sosams Il

(D) II 558050 IV

T 06 DAPTFRHA FT° DEOJD
(A) 2EES 57 TReT

(B) et wrded

(C) oS T3S

(D) eSS TNS

800 I8’ Terony eT RS’ 80 08 9
(A) 30 ©oBTHOL P55 wOFOB00
(B) 30 @PEE S5epos TR0g0 Dod
(C) 230 T 55 &) SSI0B08

(D) 30 Trda So38) 306808
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18.

19.

20.

Which of the following people did not
become Presidents of the USA from
being Vice-Presidents due to
assassination or dismissal of the
President ? (Answer by choosing the
correct code).

I. Calvin Coolidge

Il. Herbert Hoover
lIll. Chester Arthur
IV. Rutherford Hayes
Codes :

A) land IV are correct

(
(B) Iland Il are correct
(C) land lll are correct
(

D) Iland IV are correct

The person who became the first ever
Prime Minister in modern times is

A) Sir Robert Walpole

(
(B) George Granville
(C) Henry Pelham

(

D) William Pitt ‘The Elder’

Who among the following was the first
Tory Party Prime Minister of Great Britain ?
A
B

(A) William Cavendish

(B) Thomas Pelham Holles
(C) Spencer Compton
(D)

D) John Stuart

18.

19.

20.

BB TOE’ exiHd TGO 8 5ER0S
TR e65HeD 5 R0 eS8 ?
(B %050 JoBER) VIFTRAB0E).

. 5855 £0
Il. 55 5006
Il 26 es55
IV. &5¢8 36 o8
§%E,
(A) 15080505 1V 25y
(B) 1508050 ey

(C) 150805 2.5y

(D) 1508010 IV 5y
€3¢0 A0S §O BTS00l

(A) b Tf TIPS

(B) &§ GBS

(C) 7R w&T*H

(D) D®cb0 265 ¢s b’

Bon 708" oS FO 630 I o D 9
(A) 200 %G,

(B) grod 285850 -

(C) 30 05ed

(D) ed 538
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21,

22.

23.

Who among the following was never the
Chief Justice of India ? (Answer by
choosing the correct code).

I. H.J. Kania
Il. Soli Sorabjee

lll. Ranganath Mishra

IV. D.P. Madan
Codes :

(A) landlll
(B) land i

(C) land lll

(D) lland IV

The idea that the judiciary would be the
final adjudicator or interpreter of the
constitution was settled in USA by the

famous case, which is
(A) Roe Vs Wade

(B) Fletcher Vs Peck
(C) Marbury Vs Madison
(D) Hayden Vs Wright

In which of the following countries is the

system of double citizenship prevailing ?
(A) Switzerland and USA
(B) Canada and Australia
(C)
(D)

D

Canada and India

Switzerland and India

21,

22.

23.

Eod T70° IPEF wdo £y B
TONBTOT DIDOOITTHE 7 (DO
E°¢5050 MIBONE0 TT° BRTGEIAIEE).

. 2058 2

Il &0 ¥t

. Soreed @

V. &.2. 5088
§%E,
A) 1150600l
B
C

D

| 508

(A)
(B)
(C) 13558050 Il
(D)

1150800 IV

@006 D (S T TABTPCD TN
0B T IV B T @ BREOD ?
(A) & VsdE

(B) »ub Vs b

(C) 556200 Vs 37¢dS

(D) &S Vsoed

Bo0 T3 Qg eisocss S5y 558 esoeod”
&od 9

(A) 25¢20er06 500010 &R0

(B) 35c Sodai» e Ok

(C) 3c 508ak0 godar

(D) 2¢36¢7508 H0000 gocal®
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24. Given below are two statements, one 24. S0 B (REIDISRIGID. e8ed DA
:att))elllcladdas As;ertlon (AE)R?nthhedothher Assertion (A), Boso Sr8os) Reason (R)
abelled as Reason . Read the o 5o
statements carefully and in the context of B2 00con) (59«%»'3‘68 PERE) B Jy Seoed”
the above two statements, identify the ROCHD TPA YOI
Eolrrect answer from the codes given 235 (A) : @%g@mmém@m@o

elow.
A A): | g (Interest groups) 705
ssertion (A) : Interest groups tend to -
seek out the important o> PEED ool
points of access in the TR DR S8y 550
legislative process; the TH0E Pbo (Hares o
points where legislative 000,
policy is initiated. .
&) (R) : 2900 OO o0 080
Reason (R) : Legislative organization &R (R) T OE?OO )
and procedure set the J0GHe> (FEE Baress
problem of interest group RRTAL0 @SHT) NG’
access in the legislative 20605 AT TS D
process. rroBos,
Codes :
o . gség :
(A) Both (A) and (R) are individually right
and (R) is the correct explanation of (A) (A) 508050 (R) Do DN SOAB
(A) 500050 (R), (A) £ 5830 J5e
(B) Both (A) and (R) are individually right (B) (A) 500055 (R) EIET Bocsr BSOS
S;JIA()R) is not a correct explanation =9 (R), (A) 5 56035 556 560
(C) (A)is true, (R) is false (C) (A) ey = (R) &3
(D) (A) is false, (R) is true (D) (A) &350 (R) e

25. Who said “India is ruled by a select group 25. “gros8d¥o S50 P Fareso v
of upper class citizens who use their 56@5%@33@@@&30&@@?@@&33@?&03
political power to secure their privileged 2.8 ($BE & DTS00 Devadd” eod” e
positions” ? NN ?

(A) Gunnar Myrdal (A) o0 W8S
(B) Samir Amin (B) 2206 9208
(C) Hamza Alavi (C) Sroer o
(D) A.G. Frank (D) 2. 2. ok
IIES 13 A-19-03 |




26.

27.

28.

29.

The characterization of human beings as
Lions and Foxes (used by Pareto) was
first carried out by

(A) Socrates
(B)
(C)
(D)

Machiavelli
Alberti
Gucciardini

The characterization of society as
“mechanical solidarities” and “organic
solidarities” was done by

(A) David Apter

(B) Emile Durkheim
(C) Alan Ball

(D) Talcot Parsons

The statement that “in all societies, from
meagerly developed to the most
developed two classes of people appear
a classes of people that is less
numerous, performs all political functions,
monopolises power and enjoys the
advantages that power brings, whereas
the second more numerous class, is
directed and controlled by the first” is
attributed to

(A) Robert Michels
(B) Robert Merton

(C) Gaetano Mosca
(D) Max Weber

The phrase “Iron law of oligarchy” was
coined by

(A) Abraham Lincoln
(B)
(C)
(D)

David Bainstow
Hannah Arendt
Robert Michels

26.

27.

28.

29.

BISYHOBd OTER Bodak Seon (Fed”
EOAATAODD 5900 ) DGFOOBTEV) e
DB,

(A) 3
(B) 5083
(C)

(D) /02aE

R

$57eD) ‘OIro@Y HosedTres’ 50005 68
SooedTranne BP0 T
BIE 5295

“BOBoT @é:):a@ég DoES T3 Koo @B08
@é’,)?é@c‘g OBD VTErw IO Mo @) 557
K57 00 Toth D) ITe00eFAdR), ©otod
Dooced 5%0 @) éogm?géeés PG ocs, @)
Tresdoll Do DOETHRT: G0 2 HHBH0
BN G0d @RTC0 TO° 1) ) T,
©208RCHA ST oS0 WO BogrHes é
2000363 58D IGF AAHOBES’ €00l @
(A) U"aaé BSEGN

(B) orebR0gs

(C) MoooeoST 2T,

(D) wor&y2ed

‘D6 & 55 OTTY),” e DRTIR) CPFOROND
2280

(A) eex3fo &S
(B) &D& BoooSES
(C) &mn et
(D) ores§ oy

IIE:
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30.

Match contents in List-1 with those in
List-1l and select the correct answer from
the codes given below :

30. &% IS S’ SO T MHYoBED

0 286055 $5e356") eorroRo Bodsd 2e35E°D
@008 BHGEIBM

List-1 List-1I 935 — | %35 — |
(Cop.cepts) (Thllnkers) (emses) (55 Sses)
|. Political Class 1. Michels 5 T
Il. Circulation of 2. Mills . Treasal o 1. o2y
Elites Il. 3o Somreso 2. oy
lll. Iron law of 3. Pareto ll. ‘06S o esp esdrdy’ 3. Se5es’
Oligarchy IV. e85 - 33 - eqoggd 4. 30w,
IV. Economic-Elite- 4. Mosca «
. D080
Dominance
hypothesis 5%, :
Codes : | nm m 1
I nom (A) 4 3 1 2
(A) 4 3 1 2 B) 2 3 4 1
((g; 2 3 4 1 Cc 1 2 4 3
1 2 4 3
D) 3 2 1 4
D) 3 2 1 4 D)

31. Match contents of list-l with those in 31. BRI gjc‘gwés SOOLS I !i)vgoiﬁcfao
List-1l and select the correct answer from 0" 25635 56355 507000 Ttk 96356
the codes given below : ©0T08 eBDOLOD.

List-1 List-1I B’aéé§ -1 ?.6¢é§ -1
(Books) (Authors) (Hiogren) (SRoo0Ben)
l. The Power Elite 1. Gaetano Mosca I ¢35 2@e§ 1. Moot AT,
Il. The Ruling Class 2. C. Wright Mills Il. 5 5>rOoh s 2. .05 0
lll. The Managerial 3. Vilfredo Pareto . ¢ Rondeond 3. IIHE Bes’
Revolution B5OIgS
IV. The Mind and : 4. James IV. &S00k ok Tped: 4. 835 wdyso
Society Treatise of ~ Burnham €363 55 eSS
General Sociology POZSOVBLOYY
Codes : §%,
| nm m 1 I nm m 1
A) 4 2 3 A 4 2 1 3
B 2 1 4 3 B 2 1 4 3
C 3 2 4 C) 3 2 1 4
D 1 3 2 4 D 1 3 2 4
IIES 15 A-19-03|




32. Given below are two statements, one 32. $od Doy BELBENs)D. a8l PAFEI
labelled as Assertion (A) and the other
H S
labelled as Reason (R). Read the Assertion (A) D08 reo) Reason (R).
statements carefully and in the context of 2633 ch)ggés 208 BRODINT TG B0
these two statements, identify the correct BRIEERSH00 1o 7600 MHE0:HR0.
answer from the codes given below.
BOFES (A):  $5rees’ cadad wdsdo
Assertion (A): Marxist theory represents
. STAVLSN D03 AoBod
one of the earliest
attempts to explain Bo0REHEIE wOnS &0
SOHTNS® 55°8),. 339 o
distribution of political PPN, U OTOe
power in society. Marx LS. STGyy e
contended that political S G Tedaraso
power is unevenly SRISTBOMT S0Ed
distributed in any society. DADDGE0E TEOTED.
Reason (R) :  Marx points out that there o (R): &Y TR0 Foo
is a ruling class that B850 T eSS0
monopolises the political ooasd B0 DS"’Qée“P?SO
power by the ownership _
DGPOROE DT
of the means of production.
QoPDoTC.
Codes :
§,
(A) Both (A) and (R) are individually true
and (R) is the correct explanation of (A) (A) 220050 (R) &G Bocir 200
(A) 300050 (R), (A) £ K805 e
(B) Both (A) and (R) are individually true (B) (A) 55000 (R) DEIET Boc OGS
but (R) is not the correct explanation
52 (R), (A) £ 005 A9 39
of (A) =
(C) (A) is true but (R) is false (C) (A)esp s (R) &5y
(D) (A) is false but (R) is true (D) (A) &5y 59 (R) &y
IES 16 A-19-03|




33. Match the contents of List-l with those in | 33 9000 55 300 Tooe 2.5 563550

List-1l and select the correct answer from IOT O VOLD o“Jeg&(eSSfO 90TOH 2IBHIGBO[0.
the codes given below. 5605 — | 225 — I
(Movements) (Leaders)
l. Trade Union 1. Khansi Ram : §6&§Sd5mm 1. 5o
Movement

Il. Boror edsgiosn 2. TR0 Trolbsd
Il. PeasantMovement 2. Ramaswami

Naicker lll. wdoesSesgionn 3. erd ponoted

lll. Bahujan Movement 3. George 5
IV. et TeSegosn 4. Bowrogsoh

Fernandez
IV. Self-respect 4. Mahendra Singh ¢I5°0HS
Movement Tikait SE. -
(D -
Codes :
| n m 1
| n m 1 A 4 3 ]
(A) 4 3 2 1 B) 1 5 3
B) 1 2 4 3
(C) 3 4 1 2
(C) 3 4 1 2
D) 2 1 4 3 (D) 2 1 4 3
- 34. Terol DI PATEBD0 Be $od T
34. An amendment to the constitution can be 5 oo
initiated by 1 ‘3@
. TR
1. The President et
2. &5y
2. The Lok Sabha
3. The Rajya Sabha 4

DRI R IO
&

€08 0o0Rgdd SEOB0G VO HITT)
Select the correct answer from the codes OBOSOR.,

given below :

4. The State Legislatures

Codes : §&y

(A) 1,2and 3 (A) 1, 2 508050 3
(B) 2,3 and 4 (B) 2, 3 508050 4
(C) 1tand 2 (C) 1 508050 2
(D) 2and 3 (D) 2 506005 3

IIES 17 A-19-03|




35.

36.

37.

38.

39.

Who, among the following, is the
chairman of National Integration Council ?

(A) The President of India
(B) The Prime Minister
(C) Union Home Minister
(D) Defence Minister

The National Integration Council (NIC)
was first constituted in the year

(A) 1961 (B) 1966

(C) 1970 (D) 1977

The Inter-State Council was set up on the
recommendation of

(A) First Administrative Reforms
Commission

(B) Law Commission
(C) Sarkaria Commission
(D) Sardar Swaran Singh Committee

Which of the following authors wrote
the book “Factional Politics in an Indian
State ?”

(A) V.R.Mehta
(B) James Manor
(C) Paul Brass
(D) Myron Weiner

While commenting on Union-State
financial relations in India, the position of
the States was described as “Beggars at
the door of the centre”. Who of the
following said it ?
(A) K. Brahmananda Reddy

) Y.B. Chauhan

(B
(C) Santanam
(D) Nijalingappa

35.

36.

37.

38.

39.

800 TIE erdak ST $006dS WD
HIPODE A5G 9

(A) &r5s Tgsd

(B) ©orssood

(C) Lo F% LS00l

(D) s5ess00@

A5G 30e30S TS (NIC) 2ooegmoocsed 70
DTyEd0 Do9E o

(A) 1961 (B) 1966
(C) 1970 (D) 1977
wo8b orgooid (Inter-State Council) &2

RIPHP T DO
(A) o0¢5ed DOJ T HORY,TE QIS

€08 SB00B0S° “FrESS FDe3y 35 esS
ROGODS T e (OGP SDOH T 5D 2

(A) 2. b, 05w

30808 Solgs TPR0E 502050 PIFRIA:
orafo D038 B0l 3 SavocRy DY
XJS?\)@@" Selald) 5“5&7"5303(‘6 [Ney

(A) 3. @F8os g
(B) 2. 8. IS
(©)

(D) 2

IIE:
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40. Match the contents of List-1 with those in
List-1l and select the correct answer from
the codes given below :

40. 00 G0 Moo T adkad 0e35E°D)
©0TO3 BOCED DeIE"D) @07 08’ et

2635 — | 235 =l

List—1 List-1I : .
a 0 DORSG 1) BP0 D507
a) Hind Mazdoor 1) Agrarian group 8) Wb R0 80%e 1) 5 O
Parishad b) %e%,0 Ko 2) =85 Ho00
b) Shetkhari 2) Trade union C) o - 506008 3) T B
Sanghatana IS
c) Anglo-Indian 3) Business group _ .
Association ) RESEteors) 4) 208 DEP Bg5Y
d) All-India 4) Religious BTG HOG
Manufacturers organization 35S (.00.000.2..)
Organization (AIMO) )
§%,
Codes :
a b ¢ d a b ¢ d
A) 2 1 4 3 (A) 2 1 4 3
B) 1 4 2
B) 1 3 4 2 ®) 3
2 1 4
C) 2 1 3 4 ©) 8
D) 1 2 4
(D) 1 2 3 4 D) 3
41. Which of the following are not true about | 41+ $00Te38 gr68 Tergoi IO Haio 100D
the Constituent Assembly of India? 2D B 7 (SOEPD §aso MmYoBtio T
(Answer by choosing the correct code). SR AU |
[) It was established in accordance with ) 63&§5®35m$ 2550055 ST
the Cabinet Mission Plan e
) It was originally summoned for J éﬁ&mé@wb@wm@@mﬁ@m&
undivided India lll) &2 ooty VTS DT FFBI
lll) 1t was originally summoned under the ST
Presidentship of Sachidanand Sinha
IV) 8 30 oEoSRTE ©EEss
IV) It was originally summoned under the s s
Presidentship of Rajendra Prasad ® DO
Codes : 5%, :
(A) landll (B) I, land Il (A) 15580501 (B) I, 1508001l
(C) I, land IV (D) IV only (C) II, 5080051V (D) IV s5E0
IIES 19 A-19-03|




42.

43.

Match the contents of List-l with those of

List-Il and identify the correct answer from
the codes given below :

List—1 List—1I
I. Fazal Ali 1. Panchayat
Commission Raj
Il. Raja Mannar 2. DMK
Committee
lIll. Ashok Mehta 3. State’s
Committee Reorganization
IV. Mahajan 4. Karnataka
Commission Maharastra
Boundary Dispute
Codes :
I n m 1
(A) 8 2 1 4
B) 4 1 2 8
) 1 4 2 3
(D) 4 3 2 1

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below :

Assertion (A): The Council of Ministers
has to resign from the
office after a Censure
motion has been passed
in the Lok Sabha.

The Council of Ministers
is collectively responsible
to the Lok Sabha and
stays in office so long as
it enjoys the confidence
of the Lok Sabha.

Reason (R) :

Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A)istrue, but (R) is false

(D) (A)is false but (R) is true

42.

43.

O
OGRS 500 Qo0 TT° e85 26358

©0TO3 BOCED IE"D) w0708’ et

B3y — | w31l
I PeeSesd 8Dons 1.
Il. TressioTmB &0ed 2.

. 958 oveme 8203 3.

SHoTEaETS
.00 3.
TL0 DVgHRETED

IV. 205%S 5035 4. Sgeos - BT,
RECS IS0
&,
| n m 1

A) 3 2 1 4

B 4 1 2 3

Cc 1 4 2 3

D) 4 3 2 1

08 BOGL (DELIOID. 2863 DBTES

(Assertion A) ir&o) (Reason R). 2e3d
SHNG" 20D HOAD E¢iSd Moo,

oD (A):  SEXS efdoEs doso
BRATAOT RS & To°H

$300(@D00G Jeiogey BI0

HESHOE TETHT DOHDBE0.
ooy (R): So0® Soowd ddur &80

eI B0 BB T

S*EDEY TRy FodSoB

SR B0 DSOS 0.
§%,

(A) (A) D080 (R) Socs GG DO
508050 (R), (A)Z0 2506308 295

(B) (A) 50800 (R) Socs GG DO
522 (R), (A)Z 8000 e 5°¢

(C) (A)ep = (R) sy
(D) (A) 8253 (R) e

IIE:
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44,

45.

46.

Which of the following parliamentary
elections in India is described as
“Deviating Election” ?

(A) 1952 and 1957
(B) 1962 and 1971
(C) 1980 and 1984
(D) 1967 only

Arrange the following former Chief
Ministers of Andhra Pradesh in the
chronological order (Answer by
choosing the correct code).

1. Vijaya Bhaskar Reddy

2. Bhavanam Venkatram

3. N. Sanjeeva Reddy

4. Kasu Brahmananda Reddy

Codes :

A 2 1 4 3
B 3 4 1 2
C 4 3 2 A
) 1 4 2 3

Which one of the following pairs is not
correctly matched ?

(A) Eleventh Schedule to the Constitution
: 29 functional items

(B) Twelfth Schedule to the Constitution :
16 functional items

(C) First Municipal Corporation in India :
Madras

(D) The second state to adopt the
Panchayati Raj System : Andhra
Pradesh

44,

45.

46.

80¢s 057,58 338 90G0E’ 230D O RO
DANTOD0 ‘G0 S5 A Feo’ (Deviating
Election) > e£)580t¢0 es0hob 2

(A)
(B)
(C)
(D) 1967 dsew

1952 S06ax> 1957
1962 00030 1971
1980 5086 1984

80CS 089y LOIEHOE 18 HooggRHooEioud
T8 D SPOERTHROTEONT DE)E% DO
§°E20 0%,

1. Desaegr,60é
2. 500 DOFRI0
3. 23, 0o DG

4. 595 @58508 B¢

§%,
A 2 1 4 3
B 3 4 1 2
C 4 3 2 1
o)y 1+ 4 2 3
80es 9670 008" DO [T eEBSBRESE ?

(A) orezmgono 119 2ETRge0: 29 oo
H02I0E0WD 90T

(B) orezmgonio 125 2¢rmgen 1 16 oo
H02I00WD 90T

(C) 30G0XTS™ 0053 50US SEOBS
L] (S

(D) Somroodores $555%0 @RoN80N Do

TRo | SOEELE

[IE:
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47. Who of the following pioneered work on
State politics in India ?

1. Igbal Narain
2. V.R. Mehta

3. G. Ram Reddy
4. S.P.Verma
Codes :

A) 1and 3

B) 1and 2

C) 2and 3

(
(
(
(D) 3and 4

)
)
)
)

48. Which of the following are the voluntary

provisions of the 73" Constitutional
Amendment Act, 1992 ?

1. Constitution of a State Finance
Commission

2. Minimum age of 21 years for
contesting elections to Panchayats

3. Grant of financial powers to Panchayats

4. Reservation of seats for backward
classes

Select the correct answer from the codes
given below :

Codes :

A) 1,3and 4
B) 1and 3
C) 3and 4

(
(
(
(D) 2and 3

)
)
)
)

48.

47. $ob 708" It T, Tredaire edabds

Fojielel] DIGEGEG50 [TPONTED 2
1. g dooades
2. . esb. 205
3. &£.0°0 3G
4. 2. 2. ;36&
§E,
(A) 1500050 3
(B) 1 508050 2
(C
(

D

)
)
) 2508050 3
)

3 06w 4

5+ 300 738" eIV 73D TepoN H50er 10,
1992 503 Jexodsen e:p8deo (Voluntary
Provisions) i 287,08

1. oy 8, Dord, (State Finance
Commission) Doy Do

2. HoTond IQFeS el Bokerdd ED
DO 21 D05

3. B0 QE T 0085
4. 508 BENB00 T 1 BeiOgS

€0¢S 0005t E° G 500G OIS BRFTR)

hlsleinielns

§%,
A) 1, 3:00a0 4
B) 1508050 3
C

D

(A)
(B)
(C) 3508050 4
(D)

2 200600 3

IIE:
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49.

Second Krishna Water Disputes Tribunal
deals with inter-state water disputes
between

(A) Maharashtra, Madhya Pradesh,
Karnataka and Andhra Pradesh

(B) Karnataka, Maharashtra, Kerala and
Andhra Pradesh

(C) Maharashtra, Karnataka, Andhra
Pradesh and Telangana

(D) Maharashtra, Karnataka, Andhra
Pradesh and Orissa

49.

Bociss YRSh wore I (Jegdd Be Lo

B¢ 58220 I 502008050

(A) So5807y, SoFgBE, ST S8

eS0T
(B) sgpeos, So5iory, 36 H000 eolGEE
(C) S0i5Teg, Heo, es0Etrd 00y Beorres

(D) 505307, ST, e(EE0E 50000 2.0T7

50. Who, among the following is regarded as | 30 800708 3500 Sromr-Tresdortro Bgriosd
the originator of the idea of politics — FOT POTBOVIT TN GFITLED 2
administration dichotomy ? (A) &E D55
(A) Woodrow Wilson (B) Gexg. 305, c‘DeféD

B) W.F. Willoughb
®) Hougnby (C) 0 Sasré
(C) Henri Fayol

_ (D) o0d. &.2e5
(D) L.D. White -

51. Who among the following is not a | V" $od T0S” BoTradd $§3T; bazos)
supporter of the Classical Theory of 50000 T K> 2
Organization ?

ganizat (A) orgb rd8
(A) Luther Gullick
> S
(B) Henri Fayol (B) 0 Hard
(C) F.W. Riggs (C) a9 ceng. Oy
52. Which one of the following pairs is not 52. (208 735" B9y e DoHadSES ?
correctly matched ? »
(A) Hawthorne Experiments: 1924-32 (A) Fob parme + 1924-32
(B) Minnow Brook-I - 1968 (B) 23 @&l : 1968
(C) Minnow Brook-II : 1988 (C) 203 sl - 1988
IIES 23 A-19-03|




53.

54.

Match contents of List-l1 with those of
List-1l and select the correct answer from
the codes given below :
List-1
(Approaches)

List—1I
(Thinkers)

l. Decision-making a) Dwight Waldo
Approach

Il. Ecological b) Herbert A. Simon
Approach

lll. Systems c) F.W.Riggs
Approach

IV. New Public d) David Easton
Administration

Codes :

I n m 1

(A) a b ¢ d

(B) a c d b

C b a c¢c d

(D) b c d a

Which of the following are the principles
of organization ?

1. Hierarchy

2. Staffing

3. Span of control

4. Unity of command

Select the correct answer from the codes
given below

(A) 1,2and 3
(B) 1,3and 4
(C) 2,3and 4
(D) 1,2,3and 4

53. &85 gy SES° 900 T ARE

:Jeg§-l S evoT oL Zaéé§-ll S o0&
2389080

s -1
(H%HFee)

SSER |

(28 ge0)

. Aarsser o a) gpivd’

Il. Sreome 9856 Sowoes b) GG . oS
SHIHFo

lll. Sgo5e SyiEo C) W3, caxs. Ofy

IV. S8 @b res d) Gd& 43S

§%,

I nm
(A) a b ¢ d
(B) a c d b
C) b a c¢c d
(D) b c d a

54. $ob T3 DGO oHTED ?

1. ES5e0NS @e3
2. 229080 T
3. JaHoBeTHe
4. esep ASBGH0

QK% 568" 0D T M0N0 BT
RRPEHAB

(A)
(B)
(C)
(D)

1, 2 500a0 3
1, 3 00a0 4
2, 350000 4
1,2, 35000 4

IIE:
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55. The developing countries, according to 55. Of) 35700 eS8 Dot TTres & §50
Riggs, mainly fall under the category of OB
(A) Fused society (A) HoC3e2es H5Teskn
(B) Prismatic society (B) Sr5es5)05 Skresioo
(C) Diffracted society (C) B0 D5t
(D) Charismatic society (D) 5838 wsomessos
56. Which of the following systems of 56. 208 @8:135855%?@@3 a@écgééoéf@cﬁo%@’w?g@s
recruitment of public servants is most @‘%‘3365065 50 06 2
widely prevalent in modern states ?
(A) Dy arrIZosd 953
(A) Spoils system
(B) s@% 3508 2658
(B) Patronage system
(C) ©adss5ede enoso
(C) Sale of public offices
. (D) carrgme 3¢
(D) Merit system
, , 57. 5575 Db alh g erHnd” DanSenn
57. Who said that strict adherence to rules ”
. _ QX078 (rules) o E5y5H0t redowcione
found in Max Weber’s conception of @
. O 5O W (@00 DOGOBIOE DSOS ?
bureaucracy leads to ‘goal displacement’ ? ®
, (A) 57085 esSies°
(A) Martin Albrow <
. . (B) 2088 §2a05
(B) Michael Crozier =
(C) Taf205S
(C) Robert Merton
(D) Trexd @i
(D) Robert Presthus ®
58. (£08 738’ (SerrsERR NSRS JaLBTHID
58. Which of the following is the first country SORTEE REVSTRET 02 P
to adopt a democratic type of professional (professional code) &% 3¢ ROgR0Es
code for its civil servants ? e
(A) U (A) gorrocd
(B) USA (B) &520035° Soakag oraen
(C) India (C) wrosto
(D) France (D) @5
IIES 25 A-19-03|




59.

60.

The institution of Lokayukta was first
established in the State of

(A) Rajasthan
(B)
(C)
(D) West Bengal

Maharashtra

Punjab

Who said, “It is not merely bigger
government that ultimately matters, what
is significant is that morality in
administration alone could ensure better
government” ?

(A) Paul H. Appleby
(B) Glen Stahl

(C) Fred W. Riggs

(

D) World Bank 1991 — The challenges
of Development

59.

60.

Ssroing S5 SO 30EYyS °Po

“0BH00TT B B900 G HLOTHS Hooggo

T, TS PAEB DI BB DR

(BE0TG) ABYBWHY” €9 DSWHED 2

(A) 26255, 925

(B) AS IS

(C)

(D) $55¢ er0551991 — & TToED e
BHORN0LT

&6 g Oy

61. Which of the following have been 61. B0 Jrom® B0 e KO0 KUDDIT OB
identified by the Second Administrative 580 (208 T3 263D MHB0T08 ?
Reforms Commission as barriers to good
governance ? 1. egren TOB50 S*oBco

1. Lack of accountability 2. QB0 BEN [N €:0¢5600

2. Low level of awareness 3. Jromr erred

3. Red tapism 4. 2085006 PHOE™D 5503550

4. Attitudinal problems of the civil

servants EoB T%3S° OGS EEB JoeENEo To°
Select the correct answer from the codes RRTTRR00
given below : gscga .
Codes : (A) 1,2 556050 3
(A) 1,2and 3
(B) 1, 350000 4
(B) 1,3and 4
(C) 2,3 and 4 (C) 2,306004
(D) 1,2,3and 4 (D) 1,2, 3508004
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62.

63.

Which two of the following forms of
budgeting are one and the same ?

(Identify the correct answer code).
l. Line-ltem Budgeting

Il. Traditional Budgeting

lll. Performance Budgeting

IV. Zero-Base Budgeting

Codes :

(A) land i

(B) llandlll

(C) land lll

(D) land IV

Which one of the following is not true
about the Constitution 73" Amendment
Act, 1992 ?

(A) The 11" Schedule has been added

to the Indian Constitution

(B) It has made provision for reservation
of seats for SCs and STs in Panchayati

Raj Institutions

(C) It has made provision for a mandatory
three-tier Panchayati Raj system in all

the States of India

(D) It has made provision for election to

Panchayat bodies every five years

62.

63.

54 300 Te3E" D Todoedd &3 SERpS wgeloh
DA™ gPITES (20D §eoso MBod
SR AU |
. 8S-s0¢250 exgedoh

Il. SoEtrok exgedoh

lll. DTS 20Gedoh
V. 88° 3% 0Ge3oh
Sy
(A) 1558050 I
(B) Il 508050l

(C) 1558050 Il

(D) 1508050 IV

54 (800 T3 735 TeroN 550 $5¢30,1992
& 860672

(A) 2768 Trargord3 115 garges Do

(B) owoid oo 508" SC, STe Oaslsi
youso

(C) 30 8rd8 B¥oS™D wdy oo QW
KO0V HOTPOSG Tof SGY et
JOBIFND

(D) Som0bsS Soped B8 e OB TeS S0
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64.

65.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Select the correct
answer from the codes given below:

Assertion (A): Centralization generally
means that everything in
an organisation is
managed by the officials

at the top.

Reason (R): In a centralized
organisation, the ultimate
responsibility lies with
the senior most officials.

Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

The correct sequence in Game Theory is
(A) Systems — equilibrium — game —

player
(B) Pay offs — strategies — system —game
(C) Pay offs — choice — player — game

(D) Game — choice — player — equilibrium
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66.

67.

68.

ASEAN plus three comprises of

(A) ASEAN members and South Korea,
North Korea and People’s Republic
of China

(B) ASEAN members and North Korea,
Japan and South Korea

(C) ASEAN members and People’s
Republic of China, South Korea and
Japan

(D) ASEAN members and Japan, North
Korea and Taiwan

A few of the agreed areas of cooperation
among the members of SAARC are

I. Culture, energy, education and
environment

Il. Environment, Finance, Poverty
Alleviation and Education

lll. Social development, Tourism, Energy

and Immigration

IV. Biotechnology, Education, Energy
and Justice

Codes :

(A) landlll (B) lland IV

(C) landll (D) lland IV

Realists see a

A) ‘Self-help world’
B
C
D

‘Self-seeking world’
‘Self-sustaining World’

(
(
(
(D) ‘Self-built world’

)
)
)
)
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69.

70.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Read the
statements carefully and in the context of
the above two statements, identify the
correct answer from the codes given
below :

Assertion (A): An overwhelming
majority of conflicts since
the end of Cold War are
intra-state in nature.

Reason (R): With winding-down of the
cold war, the competitive
intervention by the super
powers in regional
security affairs declined,
leading to the flare up

of locally generated
conflicts, often with

frightening intensity.
Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation of
(A)

(B) Both (A) and (R) are individually true,
but (R) is not the correct explanation
of (A)

(C) (A) istrue but (R) is false
(D) (A) is false, but (R) is true

Mercantilism is a trade doctrine that
focuses upon
A) Power of society

C) Power of individual

(A)
(B) State power
(C)
(D)

D) Trade power
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71.

72.

73.

74.

75.

In terms of power distribution, South Asia
is characterized as :

(A) Bipolar
(C) Tripolar

(B) Unipolar

(D) Multi-polar
Who said, “Theory is for a purpose, for
some one” ?

(A) Barry Jones
(C) Richard Fox

(B) Robert Cox
(D) Kenneth Waltz

A failed state is that which is no longer
able to maintain itself as a viable

(A) Politico-territorial unit

(B) Political and economic unit
(C) Political and security unit
(

D) Economic and security unit

Which of the following constitute the
criteria for admission of a state into UNO ?

1. Peace loving states

2. Judgment of the organisation

3. Renunciation of right to wage war

4. Able to carryout obligations
Codes :
(A) 1 and 2 only
(C) 1,2and 4

(B) 1 and 3 only
(D) 1,3and 4
Neo Marxists view economic
globalization as

(A) Hierarchical process

(B) Developmental process
(C)
(D)

D) Equalitarian process

Uneven hierarchical process
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